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EE kg kg kg |H#ER B il Gl £y i i R={E

1101 X4R dbimE 20 200 0 200 10. 00 0 0 0 0 1,188 0
G 20 200 0 200
M3BEAS GhH 18 180 0 180
1121 425 GH 2 20 0 20

1201 B &5 280 4,200 0 4,200 15.00 0 0 0 1,782 0 1,134
GhH 280 4,200 0 4,200

128 % v Ry |EHE 40 400 0 400 10. 00 0 0 0 972 0 648

5 150 2,250 0 2,250 15.00 0 0 0 0 1,134 0

=B 40 400 0 400 10.00 0 0 0 0 972 0
GH 230 3,050 0 3, 050

1204 G- | KRB 6 60 0 60 10. 00 0 0 0 0 972 0
h) 6 60 0 60
1205125 hAE GH 20 80 6 80
1201 5% G 651 87 2 15

1200 5% S 10 30 0 30 3.00 0 0 0 1,512 0 1,350
GEH 20 60 0 60

1301 5 F EE 2 10 10 0 5.00 1,242 0 810 0 0 0

=B 40 200 0 200 5.00 0 0 0 2,700 0 2,376

BE 40 20 0 20 0.50 0 0 0 0 2217 0

®mE 24 96 0 96 4.00 0 0 0 2,160 0 1,296

#=wE 32 160 0 160 5.00 0 0 0 2,592 0 1,728
G 140 494 10 484

1311 b2 + £E 33 198 198 0 6.00 1,728 0 972 0 0 0
6] 33 198 198 0

1321 8 £ 50 250 0 250 5.00 0 0 0 3,024 0 1,836
(&h) 50 250 0 250

1331 MEB e | B 26 260 0 260 10. 00 0 0 0 3, 456 ] 3,024
& 42 420 0 420
134321 (&) 20 180 0 180

1B1E-<> (K4 600 90 0 90 0.15 0 0 0 0 76 0
&h) 660 %9 0 9

135544 5 ERE 320 32 0 32 0.10 0 0 0 119 0 108
(h 365 37 0 37

BN L1 xX& 45 135 0 135 3.00 0 0 0 1,944 0 1,512
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BE-PE-ZE CHEBRRUCHAEERMELEEZSD)
o & FEEM BT OB % H#Y5E Fa%t ARSI + Y H 3 8 »xt W 3l
VR kg kg kg |EEEE B& EiE i 2{E [21E il o]
(&H 89 267 0 267
1401 A L5y ED 3 6 0 6
1521 8% ERE 10 20 0 20 2.00 0 0 0 0 864 0
(&) 10 20 0 20
1541 E& BE 194 1,940 0 1, 940 10. 00 0 0 0 1,944 0 864
GH 1,396 13, 980 0 13,980
1603 LY — 307 2 20 0 20 10. 00 0 0 0 0 2,700 0
GhH 2 20 0 20
1609 Joway | ER 10 60 0 60 6.00 0 0 0 3, 240 0 3,024
GEH 10 60 0 60
1611 L4 R =B 10 50 0 50 5.00 0 0 0 1,620 0 1, 404
£ 26 260 0 260 10. 00 0 0 0 Q 1,728 0
EH 36 310 0 310
16129 =—L42R | KH 10 50 0 50 5.00 0 0 0 0 1,296 0
EH 10 50 0 50
16271 2= b ED 408 82 0 82
1705 £ &= = 1,530 122 0 122 0.08 0 0 0 59 0 54
(=33t 90 9 0 9 0.10 0 0 0 0 70
= 3 12 0 12 4.00 0 0 0 0 3, 456
(&H 1,627 159 0 159
1803 £ H (&) 1,550 170 0 170
1807 8= kB 100 10 0 10 0.10 0 0 0 0 4
£5H 600 120 0 120 0.20 0 0 0 0 58
Fisad 150 45 0 45 0.30 0 0 0 0 78
(&) 850 175 0 175
1808 LHLE kH 280 28 0 28 0.10 0 0 0 78 0 41
B 1, 500 300 0 300 0.20 0 0 0 0 68 0
EH 1,780 328 0 328
* 3FEET * 16, 601 37,2719 488 36, 791
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A% kg |E#E EiE i R{E
2218t & 5 0 50 10.00 0 0 0
(&) 5 0 50
2611 EA—+ g Ll 5 0 10 2.00 0 4, 860 4,428
= 8 0 6 0. 80 0 0 0
GH 13 0 16
2701 7—IL A e 1 0 9 9.00 0 0
GH 1 0 9
2731 A Al 170 0 2, 550 15.00 0 0 0 4,536 0 2,592
£5 19 0 285 15.00 0 0 0 5,292 0 3,024
B 12 0 180 15.00 0 0 0 4,320 0] 2,268
B 50 0 750 15.00 0 0 0 5, 400 0 3,024
GH 251 0 3,765
* SEEET * 540 0 1,681




